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2022
ZOOLOGY

(Honours Generic/Regular )

Paper : ZOO-HG-4016/Z00-RC-4016

( Genetics and Evolutionary Biology)
Full Marks : 60

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

FIRST HALF

1. Answer the following : (any seven)
1x7=7

were At epeTEE Bel al ¢ (Rie<elc 9b1])

() What is epistasis?

qfarc@@iﬁs?

Contd.



(i) What is allelomorph ?
afereT 2

(iii) What is chromosomal theory of
inheritance ?

IS TSI T f[Fe

(iv) What is co-dominance ?

AZ-geidret e

(v) At what stage does crossing over occur
in meiosis ?

P Reomr @F wire fom Rifsm =32

(vi) What is sympatric speciation ?

flGe Cwifegaes &2

(viij What is mass extinction ?

R Rl e

(viii) Who postulated the theory of Natural
selection’? |

‘iFfes Ao TOIM (I SNSRBIRIRe 2

(ix) What is bioclast?

IS e
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(x) The scientific name of Cro-Magnon Man
is

T-(5 Y (RS A A |

2. Anéwer any four of the following : :
2x4=8

et 4519 9 v ¢

Write the difference between :

iy forat 8 |

() Genotpye and Phenotype
e =% T

(i) Recessive lethals and Dominant lethals

TS AET WiF AT ST

(iii) X-linked gene and Y-linked gene
Xz B o Y-orerd o

(iv) Mendelian inheritance and Cytoplasmic
inheritance

(IO LIS S (T P IS

(v) Complete linkage and Incomplete
linkage

oy el W% STy AT
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(vi) Interference and Coincidence
TBCFA IS A6

(vii) Somatic mutation and Germinal
mutation

AT BeoiRTEH N TAFCHIE 1T BesARE

(viii) Continuous variation and
Discontinuous variation

wRkftzg a9k Wi [Ritm a4

3. Answer any three of the following :
5x3=15

wore A eeR e fofabre ©e] forl ¢

(i) What is extra-chromosomal inheritance ?
Write about the important features of
extrachromosomal inheritance.

IfFzerErRIn TS 52 IfRperrerm Ixisifex
T bReTRe e o

(ii) Write about the incomplete linkage of
Drosophilla melanogaster with suitable

diagram. 1+4=5
BT s YIS T TNRT Py F=eaio
Rac forn
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(iii) What is speciation? Write a note on

the limitations of biological speciation.

| 1+4=5

srorfer Buid e [ o ERke gwifed
(IR NN 8oige «ft (Gt ol |

(iv) Describe the modern theory of
evolution.

TieY Terifen oyl oM Ra 3 301

(v) Write a short note on human evolution.

NigZd TARTHT 82 e @b 5 G fort |

(vi) What is pleiotropic gene ? Describe the
phenomenon of pleiotropy with suitable

example. 1+4=5
Brer e & 2 Soge TrizIal ARTS
PerEAT AR 30 =01

(vi) What is multiple allele ? Write the main
characteristics of multiple alleles.
2+3=5
GIfE A 32 Gfeiet I 3 got 2 @ifEs A 32
e Yy sz o

(viii) Write the characteristics of modern
horse. S

wigRE R TR T
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wILLUNDU AL
4. Answer any three of the following :
10x3=30
R [t fofvq ©sg fosi

(i) Describe the role of extinction on
evolution. |

TS Reffl e Ra wdm =i

(i) What is macroevolution ? Describe the
principles and mechanisms of macro-

evolution. 2+4+4=10
Z Rer e g Rerr IS Wi =
I =4

(iii) What is genetic variation ? Describe the
types and sources of genetic variation.
2+4+4=10

o oTiRY T2 (TR SIIRO] AR WF TSR
R 3 =W

(iv) What is fossil ? What are different types
of fossil ? Write a note on formation of
fossil. 1+3+6=10

Hrary 3 2 RiSn e Frrpnz & &2 e
sio=q eoige @it (Bt foradt |
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(vi))

What is mutation ? What are different
types of mutation ? Describe the
consequences and significance of
mutation in animal life. 1+2+(3+4)=10

TesifRad e i 3o ¢ [iSn eiore SesifRass-
W & B0 TR eoite BerifRasar ger

% SR 399 T/ |

Write about the principles of genetic
mapping.

FARN Y Tbae *rafeq Tfemr [ it

What is linkage ? Describe the
mechanism of linkage. Write about
the significance of linkage. 2+5+3=10

WW%?WW&E@M@W|WW
SFER o |

(viii) Enumerate Darwin’s theory on

evolution. Write the difference between
Lamarckism and Darwinism. 5+5=10

RIS Ford TIRORHT TSAM SIS I |
CTIRRIT SIF BRGNS W 2ALFPTR foralt |
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